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IRRIGATION ENGINEERING
"
fraiRaawg: L der) [xfirae 3 : 30
Time allowed : %2 Hour] [Maximum Marks : 30

Mz () N Afard & va ged i 1 HFFE |
Note: All Questions are compulsory and each question is of 1 mark.
(i) #wﬁﬁwﬁ##ﬁwﬁﬁ#ﬁmﬁm?/

Only English version is valid in case of difference in both the languages.

(d) fesww R R
s HiHwA A8 AN E |

(a) Tafeeer ad

(b) wtafer 7

(©) faféeer 7 wafar A& Al

(d) a fafen v a & waiT
a.a. .

1. fiaE # maegsar ad % 1.  Necessity of irrigation when
(a) ST ast A ' (a) More rainfall
(b) THT W aet & (b) Timely rainfall
() IFIa wHS ST & (c) For cultivation of cash crop
(d) IRE F q B a8 (d) ‘None of the above
: 2. For orchards field which irrigation
2. m :ﬁﬁ;’?aﬁﬂ & R R method is use ? '
: : (a) Basin method
(a) 3R A (b) Check method
(b) F fafy (c) Border strip method
(c) ot fegu Rl ~ (d) Sprinkler method

An aggrading river is a

(a) Silting river

(b) Scouring river

(c) Both silting and scouring river

(d) Neither silting nor scouring

nver

P.T.O.
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4. wFs IR der Al &
HHTATA e & |
(a) TAEEoT
(b) (FAEERor)/?
(¢) (FFegyon)?
(d) (faegTor)?

T A AT JoreTr F AT & afer
(a) FEm |
(b) Tawear ¥ a gmfdg
(¢) HIAYT uerD g & maegwar

(d) AT AAF Y HH 3rERISAT

HROT § |

(a) ERgIoD Ber

(b) TEa v

(¢) T@EAT

(d) 306 # @ BE a8

A& gfoIRT et Iea iy @ & -
(a) Uil &1 gEg

(b) TWN & AT

(c) aRT &7 TqT T AT

(d) 3T g

Ik dgieas derde et &
(a) AP

(b) 3IWATT HT

(c) wHag Faepror

(d) GHPOT PRepror

Ul feuer-d & AR i F Rwas
& g QfPEER g g Rge-a
# ggar &

(a) o] 9 AT dax o

5 ,

(b) FMEER T FTFaag T NS
a; 3

(¢©) FARER IR Mf & at &

(d) IR M & g

2206

Length and width of a meander are
proportional to

(a) discharge
(b) (discharge)!?
(c) (discharge)??

-

(d) (discharge)?2

As compared to gravity dam earthen
dam

(a) costlier.

(b) are less susceptible to failure.
(¢) require sound rock foundations.
(d) require less skilled labour.

Main cause of failures of earthen dam

(a) Hydraulic failures

(b) Seepage failures
(¢) Structural failures
(d) None of the above

The major resisting force in a gravity
dam is ' :
(a) water pressure

(b) wave pressure

(¢) self weight of the dam

(d)  uplift pressure

The elementary profile of a dam i
(a) arectangle '
(b) atrapezoidal

(¢) an equilateral triangle

(d) aright angled triangle

The flow of water aﬂgf spilling over
the weir crest 'in the ‘chuté and side
channel spillway respectively are

(a) at right angle and parallel to
weir crest.

(b) parallel and at right angle to
weir crest.

(c) parallel to weir crest in both.
(d) atright angle to weir crest.
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10.

11.

12.

13.

14.

g fower-d o fATERoT gar € |
(a) CHL? (b) CLH52

() CLH'? _(d) CLH*?
et C = foror s

L = Raer-d oiid & it g

H = Raer-3 M oy g arit Y &

MNe A7 3rafa & |
(a) Fad R

(b) @ g

(c) e T&gd
(d) Reaw Rgwa

U TA-RANEE T
(a) TP Rb Far$ FEh & |
(b) TEr) &Y & U IR ¥

() IE A FF F g & |

(d) AT 8T & T WEA AN
T

-W-awsﬂﬁsmﬁ:aisw

(FFad) P07 W TG el ¢ |

(a) WARY AW
(b)  fassd Jw

() & aW
(d) A ET Fe

(a) ¥ FAUTN EXT ¢

“‘(l'a")y‘ gcharearel m%_sﬂwm

as;mmzﬁr

(c) ¥ WU wiAE IEd
§OT & PR &

d) 3ET T F HBFR F P

10.

11.

12.

13.

14.

2206

The discharge passing over an ogee
spillway is given by

(ay C HL3?

(b) CLH3?

() CLH!?

(d) CLH3*?

Where C = discharge factor. .

L = effective length of spillway crest.
H = Total head over the spillway
head.

Garret's diagrams are based on
(a) Kennedy's theory
(b) Lacey's theory

. {¢) Khosla’s theory

(d) Bligh's theory

A water shed canal

(a) irrigates only one side.

(b) is most suitable in hilly areas.

(¢) avoids = the cross drainage
works.

(d) is generally aligned to the
contour ot the area.

A canal which is aligned at right
angles to the contour is called

(a) contour canal

(b) water shed canal

(c) branch canal

(d) side-slope canal

As per Lacey’s theory the silt factor

s

(a)  directly proportional to average
particle size.

(b) inversely  proportional = to
average particle size.

(c) directly proportional to square
root of average particle size.

(d) not related to average particle
size.

P.T.O.
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15.

16.

17.

18.

19.

4

AT & 3y afF W@ TR F
frraal ST ad A E |
(a) PUTH-CATS-TAT

(b) TEE-FHUH

(c) A-TA-HUTH

(d) ME-SAR-Te

g8 D FRW/HPF), T A

#@eR), 99 GRFs B (Rat #) day
e &

B B

(a) A=1.98B (b) A=8.64'l‘)'

_ 562 _geal

(©) A—5.68D (d) A—8.64B
T P&

(@) ¥ TT A AW T AQ §F

(b) U U ¥ FREROT 3T 2

¥

(c) 3¥el PU & W # FAAN
e

@) (a) 3R (b) A=A

S5 HEAT & |
(a) RNAT =R
(b) fafRE s
(c) T aaar
(d) 390w #F A P T

A R aar & |

(a) a9 VW
(b) WFAAE TR
(©) T T
(@ e R

@

15.

16.

17.

18.

19.

2206

Right combination of crops rotation
for improving soil fertility

(a) Cotton — Onion ~ Gram

(b) Rice - Cotton

(c) Wheat - Gram — Cotton

(d) Wheat — Great Millet - Gram

The relation between duty D in
hectares/cumec, depth of water A in
metres and base period B in days is
given by

B B
(a) A=1.98B ,(b) A=8.645
B D
(c) A=5.68 D (d A=8.64 B
A deep well .
(@) is always deeper than a shallow
well.
(b) has more discharge than a
shallow well. ’
(¢) is weaker structurally than a
shallow well.

(d) Both (a) and (b)

Discharge per unit draw-down of a
well is called

(a{) Specibﬁc storage
(b) Specific yield

(c) Specific capacity
(d) None of the above

Self-cleaning strainers is
(a) Tej strainer’s

(b) Browntie strainers -
(c) Cook strainer’s

" (d) Leggett strainers
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20.

21.

22.

23.

24.

25.

FA-eIAAT HT HROT

(@ Tt & R 3w Qe

(b) &% # ¥ARF aut & B

() . Ta& T HANa e gonfast
&1 ST T FeAl

(d) IRE FH

FR West & AT Rt B &
forg @am ¥ |

(@ 0% 05 AA

(b) 0.5 ¥ 1.0 AX

() 1.0 @15 AT

(@ 1.5 @ 2.0 A

fruroie a1 AR # |

(a) TR 3787, & FFEAd

(b) dRR HeT & FHAEAE AR FHF
TS U

(¢) dRR HeT & FAER AN T
: T

@) oW A FH

mmm—aﬁmaﬁaﬁwaﬂm7

e fpaen e ?
(@ 0
(c) 3IHded

(b) gaﬂé
(d) Tgd Hw

grEErenE Arhee WaRid T ¥
(a) Huars 3R woHT

(b) TA& A IR THT

(c) Tad 5 vare 3R @Hg
(d) aut I FAF

Pt & @ e avemd T 8

g

(a) Oftwr ahe RFeA & qOATE

k=g
(b) UBHAA auTAT I
(c) ¥aa aféar avtend I
(d) A TR o qEATd T

20.

21

22.

23.

24,

25.
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Causes of water-logging

(a) over-irrigation due to canal.

(b) heavy rainfall over the area.

(c)  not proper drainage of surface
and underground system.

(d) All of the above. ‘

Value of capillary fringe for silty soil
(a) 0to 0.5 metre

(b) 0.5to 1.0 metre

(¢) 1.0to 1.5 metre

(d) 1.5to 2.0 metre

A divide wall is provided

(a) atright angle to the axis of weir.

(b) parallel to the axis of weir and
upstream of it.

(c) parallel to the axis of weir and

. downstream of it.

(d) at an indication to the axis of
Wwelir.

v
2]

‘According to Khosla’s theory, the

exit gradient in the absence of a down
stream cut-off is

(@ 0

(b) unity

(c) infinity

(d) very large
Hydrograph is  the - graphical
representation of

(a) Runoffand time

(b) Surface run off and time

(c) Ground water flow and time
(d) Rainfall and time

Which of following is a not a self

recording rain gauge ?

(a) Tipping bucket type rain gauge

(b) Simon’s rain gauge.

(c) Steven’s weighting type rain
gauge.

(d) Floating type rain gauge.

P.T.O.



CE306

26.

27.

- 28.

29.

30.

(a) & yuIa (b)

amwrtna—q@nﬁamm%vl
(a) ¥aaT F g

'(b)' ﬁ?‘rah‘-hﬁ

(c) ol VT W
(d) T &\ W/

HATATH T BT AT S ¥ |

() o=
(b) AT aTH &
(c) UF |

(d) TH & SawET

B & ¥ am & 3 & gEa
g ¥a@ @ 3w o=h @
Wgﬁiﬁaﬁﬂz}fﬁmaaimﬁ
o

T TEHY
TE WA

() FWAN (d)

(a) SEAG

(b) ztaterifeynT

(c). AU
(d) > o gy

TR ERT VST T URh @ e
AR F AT A Aewraa  (Fepram)
foran S mear ¥

(@) SoRg AR AHEA ST
(b) Seq AR seatdifeT

() seateiftE AR T e

(d) THUE

(6)

27.

28.

29.

30.

" -
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‘A rain gauge should preferably be

fixed

| (a) near the building

(b) under the tree
(¢)  in an open space
(d) inaclosed space

For a proportional outlet, the

flexibility is

(a) zero .
(b) between zero and one
() 1

(d) greater than one

Which of following canal structure is
used to remove surplus water from an
irrigation channel into natural drain ?

(a) Canal fall

(b) Canal escape
(c) Canal outlet
(d) Canal regulator

Cross drainage work
(a) Aqueduct

(b)  Super passage

(¢) Level crossing
(d) All of these

The dramage water mterceptmg the
canal can be disposed of by passm;,
the canal below the dramage in

(a) Aqueduct and Syphon aqueduct
(b) Aqueduct and super passage

(¢) Super passage = and Canal
: Syphon
(d) Level crossing
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2016
IRRIGATION ENGINEERING
PART-1I
Fraifa v i e : [sifrman 3iw: 70
Time allowed : Three Hours] " - [Maximum Marks : 70
FE (i) W I At & o 7 @ fret gt o g 1
~ Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(ii) % 7T & G G &) FHEAR 0F T 5T A |

Solve all parts of a question consecutively together.

(iii) URF T F 73 I § GRS FTw |
Start each question on a fresh page.
(iv) 3 smrsn 7 s gl @ Rl & st sram &t w1

Only English version is valid in case of difference in both the languages.

1. 1 % wg | 3w i

" Answer the following in brief :

(i) $RTETE
Kor depth
(i) IvETE
Runoff
(iii) 11 ferrores
Watershed line
(iv) T2, T SR MUR B
Duty, Delta & Base period
(V) ST S
Optimum Moisture content (2%5)

2. () Toor oot o ¥ fa vl O e ¥ 0 wuet 9 o Savasaisi S s
F qA FRSA & I A fofgd | _
What are the uses of irrigated water for crop ? What are the different factors that
affect the water requirement of crop ?
(i) 1 faw™ = 1 fod oo wwesd |
Explain hydrologic cycle with the help of sketch. . (6+6)
| 0] ~ P.T..

.
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3. ()
(ii)
4. ()
(i)
5. ()
(i)
6. (i)

(i)

8) ) 22061
gt & &yl & fawet @ % SrRo augr |

Explain various causes of failure of earthen dams. -
sty & AT Suge e &1 w9 wQ 9 T FRE W wE e TR 0 T e
aﬁmﬁmaﬁaﬁm&m

~What are the criteria of selecting suitable site for a dam ? Which investigations

must be done ? (6+6)

TEEA AT |1 1 WG v FIR | 393 o T 21ty off feafad |

Explain with sketch, Siphon spillways. Also write its advantages and
disadvantages.

qﬁu&waﬁ%wm%? 3T STTCOT R Wb fepar 1 & 2
What are the objectives of River Training Works ? How they can be classified ?(6+6)

ot 1 4 3 e P % e st =t Rt |
Write down the salient features of Lacey’s and Kennedy’s silt theories.
STATTIA o HRVT o TR A & IR & R H e 1 s geafomy @@ ¥ 0

Explain causes and preventive measures of water logging. What are its ill
effects ? ' (6+6)

TeT Rrmé Y ardem 5 s % 11 9 <y SeonEd |
Write down the advantages and dlsadvantages of well irrigation over canal
irrigation.

YW I8 § IR Y Ferr st wmemed |

Explain Super passage and level crossing with the help of sketch. (6+6)

7. 7 W die feuoh fafea

Write short note on following :

)
(ii)
(iii)

8. (i)

(ii)

Y H T

Duty of Well

9% IR 3 T
Bed bar tail escape

A BT THT HH AT G

~ Rotation of Crops _ | (4x3)

fefir= 7R & R+t geiteg 0 wias avi A |

List out different types of strainers and explain with sketch.

T I T Fod S g |

Explain Symon’s Raingauge with the help of sketch. (6+6)



